
����� � ���	
����
��
���� � ������
���������
� �������� � 
��
� ������ ! ��
"
�# ����
����$ � �������� �
� ��
��
��� �
� ��������� ��� �$����� � �
�����

M %�
�
�#� ���& ��� ����

OA

� �
��
$��
� '(�
�
� ��
�
�� !
ωOA ) * '����

A % B % C � � +�����
E

�����
AB

����
�
���# �������� �#� �
,�� ) - �� �$�
p = [0.1, 0.3, 0.5, 0.1]

������������$ ��������
� ��',���
� ����,��#
Mfr

�
�
����� �����$ �� 
�$� ���
�����#� � �����
�

O
�
D ) .��� �
��
�������$

�������! �
��'�� /
Ffr % 
���� �#� ��$�� ����� �#� ) �����"��(�$ �������

�������� % 
�������� ��������,���
� 
������� � ��������! �
�����
M )0 123424 567879: 3;<1=1>724?@9:4 34?ABA9: C=1D91;2A E F

Na G ;A? A94HIAA J
Np

G ;A? 2KL4;2A J
Nfr G ;A? 2H49AK 3 <1?8597M J

NM G =1=49213 2H49AK
NOP QRSTU V WX W YZ[Z\]^_ ` aZbcZd^eZf_gh iZjg]^_gkl1m H4m n o n p n qAHA??137 nrs nF tpusovwpvJ xyyz n G {z| } n C; nxzz nE
~g�geg ����`�` ��Q�STU ����

O

A

B

D

C

E


	6
M

30◦

45
◦

mA = 9
6>J

mB = 13
6>J

mC = 12
6>J

mE = 11
6>J

OA = 26
;= J

DB = 14
;= J

AB = 40
;= J

BC = 29
;= n

ωOA = 0.81

c

J
Ffr = 18 � J

Mfr = [19, 20, 21, 23]

~g�geg ���� `� ` � T��TU �O� �P

O

A

B

D

C

E

�

-M

30◦

45
◦

mA = 27
6>J

mB = 30
6>J

mC = 30
6>J

mE = 29
6>J

OA = 26
;= J

DB = 14
;= J

AB = 26
;= J

BC = 29
;= n

ωOA = 0.81

c

J
Ffr = 40 � J

Mfr = [59, 60, 61, 63]

~g�geg ����`� `

O
A

B

D

C

E

�

-
M

30
◦

60◦

mA = 4
6>J

mB = 5
6>J

mC = 8
6>J

mE = 7
6>J

OA = 29
;= J

DB = 16
;= J

AB = 50
;= J

BC = 32
;= n

ωOA = 0.71

c

J
Ffr = 29 � J

Mfr = [25, 26, 27, 29]

~g�geg ���� `� ` � URSTU �� ��Q��
O

A

B
D

C

E


	6
M

30
◦

45
◦

mA = 3
6>J

mB = 5
6>J

mC = 4
6>J

mE = 7
6>J

OA = 26
;= J

DB = 64
;= J

AB = 30
;= J

BC = 23
;= n

ωOA = 0.81

c

J
Ffr = 22 � J

Mfr = [17, 18, 19, 21]

~g�geg ����`� ` N S���U �P� ��

O

A

B
D

C

E

�

-M

30◦

60◦

mA = 15
6>J

mB = 18
6>J

mC = 16
6>J

mE = 19
6>J

OA = 29
;= J

DB = 18
;= J

AB = 29
;= J

BC = 23
;= n

ωOA = 0.71

c

J
Ffr = 34 � J

Mfr = [41, 42, 43, 45]

~g�geg ���� `� ` N T��� �Q�O� �� ��QRS�P
O

A

B
D

C

E

�

-
M

45
◦

60
◦

mA = 4
6>J

mB = 5
6>J

mC = 5
6>J

mE = 8
6>J

OA = 31
;= J

DB = 18
;= J

AB = 25
;= J

BC = 23
;= n

ωOA = 0.61

c

J
Ffr = 25 � J

Mfr = [21, 22, 23, 25]



~g�geg ����`�` � �P Q� �U �S�TS

O

A

B

D
C

E


	6M
30◦

30
◦

mA = 8
6>J

mB = 12
6>J

mC = 11
6>J

mE = 9
6>J

OA = 33
;= J

DB = 121
;= J

AB = 40
;= J

BC = 29
;= n

ωOA = 0.61

c

J
Ffr = 26 � J

Mfr = [26, 27, 28, 30]

~g�geg ���� `� ` �RSSO�TUR � �R� �P OSR

O

A

B

D

C
E


	6M

30
◦

45◦

mA = 27
6>J

mB = 31
6>J

mC = 29
6>J

mE = 30
6>J

OA = 27
;= J

DB = 16
;= J

AB = 40
;= J

BC = 26
;= n

ωOA = 0.71

c

J
Ffr = 18 � J

Mfr = [37, 38, 39, 41]

~g�geg ����`� ` ��P  T� RQTU ����

O

A

B
D

C

E

�

-M

45
◦

60
◦

mA = 15
6>J

mB = 18
6>J

mC = 16
6>J

mE = 17
6>J

OA = 31
;= J

DB = 14
;= J

AB = 31
;= J

BC = 23
;= n

ωOA = 0.61

c

J
Ffr = 14 � J

Mfr = [21, 22, 23, 25]

~g�geg ���� `�¡ ` �O� TSTU �� ��QRS�P
O

A

B

D

C

E


	6
M

30
◦

60◦

mA = 5
6>J

mB = 7
6>J

mC = 7
6>J

mE = 9
6>J

OA = 28
;= J

DB = 18
;= J

AB = 30
;= J

BC = 26
;= n

ωOA = 0.71

c

J
Ffr = 21 � J

Mfr = [18, 19, 20, 22]

~g�geg ����`��` �� �¢RSTU �� ��Q��
O

A

B
D

C

E


	6M

30◦

60
◦

mA = 5
6>J

mB = 7
6>J

mC = 6
6>J

mE = 8
6>J

OA = 29
;= J

DB = 21
;= J

AB = 30
;= J

BC = 23
;= n

ωOA = 0.71

c

J
Ffr = 22 � J

Mfr = [19, 20, 21, 23]

~g�geg ���� `�� ` ����OS �� ��Q��
O

A

B

D

C

E

�

-
M

45◦

60◦

mA = 4
6>J

mB = 5
6>J

mC = 6
6>J

mE = 6
6>J

OA = 30
;= J

DB = 14
;= J

AB = 85
;= J

BC = 26
;= n

ωOA = 0.71

c

J
Ffr = 42 � J

Mfr = [38, 39, 40, 42]

~g�geg ����`�� ` £��O�RSTU �� ��Q��

O

A

B

D

C

E�

-M 30◦

60◦

mA = 28
6>J

mB = 31
6>J

mC = 31
6>J

mE = 31
6>J

OA = 28
;= J

DB = 16
;= J

AB = 28
;= J

BC = 29
;= n

ωOA = 0.71

c

J
Ffr = 28 � J

Mfr = [48, 49, 50, 52]

~g�geg ���� `�� ` V R�RP TU VO�RO�

O

A

B

D

CE�

-M 30◦

30◦

mA = 28
6>J

mB = 31
6>J

mC = 30
6>J

mE = 31
6>J

OA = 33
;= J

DB = 16
;= J

AB = 33
;= J

BC = 26
;= n

ωOA = 0.61

c

J
Ffr = 24 � J

Mfr = [44, 45, 46, 48]



~g�geg ����`�� ` ¤ �QR�TU V R�QO�

O
A

B

D

C

E

�

-
M

30◦

30
◦

mA = 19
6>J

mB = 20
6>J

mC = 21
6>J

mE = 23
6>J

OA = 33
;= J

DB = 18
;= J

AB = 76
;= J

BC = 26
;= n

ωOA = 0.61

c

J
Ffr = 26 � J

Mfr = [37, 38, 39, 41]


